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—HPUERASE 99.9%HVAEFT RS - (RHIRF N —{RAY4HE An antibiotic kills 99.9% of a
bacterial population. You would expect the next generation of bacteria
@) S5 E—RAAFH—FEERES 214 Z 800 to be just as susceptible to that antibiotic as was the
previous generation
(b) WHTAEZEFENIAEPTS to be more resistant to that antibiotic
() RyMEEET H KR RS [#ESET to die out due to the drastic decrease in population size
(d) Eb_E—fRAEFE A S 44 to be more contagious than the prior generation
(e) LLEESE all of the above

KT 5HAM AT TR S EAIRE SIS T Er P2 E 2 The ability of water molecules to
form hydrogen bonds with other water molecules is critical to
(a) RZBRFRIEZE A A HIWE A evaporative cooling of skin surfaces
(b) HIRAZ F #Y7K% 2] the movement of water from a tree to its leaves
(c) ATEM X 5N KAHLER A BUR AR the milder temperature of coastal regions
when compared to inland areas
(d) F:ib B i fF /KR _F{TERYAE T the ability of certain insects to walk on the surface of
water
() PL_EE4E all of the above

WIS GRAEERARCH Ty — 8 BRI IR &) o R R Sk LB s B A - (sl
PR 2 If you were to add olive oil to your food as part of a diet to lower your risk of
atherosclerotic disease, you would use olive oil that

() FEZEE N ERMAIRAY was liquid at room temperature

(b) ELE /LAY was hydrogenated

(c) ZEEEZEE T 2EARIRAY was modified to be solid at room temperature

(d) Ao T HAE N H had lard added to it

() LAL_EEIE none of the above

(ARG IE ATP B9F2E <> Anything that prevents ATP formation will
(@) EFIZFESET A4S F result in cell death
(b) [HAAE A BEfRFERS R IE I RE R YRR force the cell to rely on lipids for energy
(c) A EhEE I ATEERZE SR result in the conversion of Kinetic energy to potential energy
(d) [ELHA A AE(SE ADP {EEEE SRR force the cell to rely on ADP for energy
(e) WM (£ 520 have no effect on the cell

Tt —Aa T2 RN 0 &> © Point out one of the following statements which is not true:
@) DR s AL ErEIEN Ebola virus disease occurs in West Africa recently
(b) PR EEil A 25a ;4 For the time being, there is no effective medicine to cure it
(c) BEEZFZETIRZ A Many infected persons have lost their lives due to the disease
(d) BE5EEHA—FE Itis like the dengue disease
(e) SlFEVFZE AU It has created a great fear to peoples
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VIR E R MO AT, Hh—IUEANIHY > 1782 Evolution of a crop species can
be due to the following, except

(@) Z=75 Mutation

(b) %&#dr Selection

(c) Z%3¢ Hybridization

(d) ZHZHEZF% Tissue culture

() bfI c Bothbandc

T2 N HEHTRE 2 AR B S iRk iU o ARSI E AHREAY HaA 2 During which of the
following stages of meiosis are chromosome tetrads lined up in the centre of the cells??

@) 4rZiEHEE | interphase |

(b) miHA  prophase |

(c) H#HAIl  metaphase I

(d) f=HA 11 anaphase I

(e) HHA Il metaphase Il

B TR R 3 U 2 & i A 7 E: Persons who are heterozygous for sickle-cell anemia are also
(@) WHEBAPURME resistant to malaria
(b) WHFEN S A Hi I resistant to African sleeping sickness
(c) Z&E55ELE susceptible to malaria
(d) A ZHIREER 552 B susceptible to many forms of cancer
(e) N HYEIEAHURME resistant to many forms of cancer

#5355 RNA £ NHEA—DEF h#y s E A /(o 2 Transfer RNA plays a role in which of the
following?

() R E R B TRy &L picking up the amino acid specific by the anticodon

(b) TAIHAF mRNA 35492551~ recognizing the appropriate codons in mRNA

(c) HEMZEREEE] RNA transferring nucleotides to RNA

(d) FrERS-T-EERE LR translating codons into amino acids

() a~ bf1d ab,andd

JFRZ A ELAZ 4 A (58 P 1 T e A 07 ZORFT AT 9% P HE 26 26 R 2 Both prokaryotic and eukaryotic
cells use which of the following to turn certain genes on and off?

(@) DNA ZEFf DNA ligase

(b) RNA F&5E:fis RNA transcriptase

() WN&ThH E intron segments

(d) 1ETIZEH regulatory proteins

(e) #Z/IMAELEE nucleosome packing

2/6



2014 5 EFFEVEFTRESBUE - 2UF

11, FHEB—WE"BEERZY" 0 & F E X ? Which of the following best defines “transgenic
animal”?

(@) —MohraaEREEARA HARIEFREA A KAH/REE an animal that contains
vial genes and has the ability to produce large quantities of human growth hormone

(b) —HMoysE Rk R A HEZL DNA J&777AKIE an animal in which a genetic
defect has been corrected using recombinant DNA therapy

(c) —Fhzhraa NS =" R T RAVER » XEE AR S —MARERYYM an animal
containing a gene from a third “parent”, which may even be another species

d) —Fzivras M—"1E 2 MEY) AV EE R an animal containing genes from one or more
plants

() b B c eitherborc

12, RERy NZEHBE M e T 7 I{e =& B [REHY Most genetic disorders of human are caused by
(@) FMEZFEArFEXA dominant alleles
(b) FatESEfr AL recessive alleles
(c) MZ=HH[E]TXE drinking during pregnancy
(d) ZAELEINF K5+ Bz G UMY AL R ZE 28 s [EAYAZ 821014 a mutation that occurs in the
egg, sperm, or zygote that gives rise to the affected individual
(e) b f1d bothbandd

13. N T EBREIREERELE - JIREE/VHYE © To minimize the frequency of genetic disease in the
progenies
(@) FIHZEHS: 2B 204545 to marry genetically unrelated persons
(b) FHiE A Ef#m4S inter racial marriage
(c) Z=Wik454S brother-sister marriage
(d) [EfnAIEY A 254 same blood type marriage
(e) RIEIMAIAY A L5 different blood type marriage

14, EMEMIMERE L - A RE G ESE(T 4.2  If bacteria were to disappear from earth, what
would be the most likely consequence?
(@) b EERF<{= 11 chemical cycle would halt
(b) FrAEMIERAy4 S22k A KT all other forms of life would be doomed
() KRETHIESREE N2 T oxygen levels in the atmosphere would decline
(d) 1EY4: a4 K plant life would flourish
() afl b Bothaandb
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15. EE The fungi

@ SYNEMLL - RNy EFEEYE 2 HIEZA0RERE are similar to bacteria because fungal
organisms are composed of prokaryotic cells

(b) SHEAMAEM AN EEF RN LEREUAHYE 7= are similar to bacteria because
fungi use extracellular digestion to obtain their nutrients

(c) Szt ROV EFE =44k 2 are similar to green plants because fungi produce
chlorophyll

d) Sz¥FauEk A E R EE e E 74 Y)1 differ from members of the animal kingdom
because fungi are autotrophic

(e) SeERIHEYIAEML - RV RE G E R A - 4R A EERT & are similar to green

plants because most fungal cells are surrounded by a cellulosic cell wall

16. ‘Rap SR P RYSTHE IE B R AR o Ny M/ NEE KPRy ? Structure
in the living world is organized at hierarchical levels. One of the following choices lists several of
these from least inclusive to most inclusive?

(@) 4HBE ~ 5T~ B5E - BE AL - HeH -~ 4an(Ak cell, molecule, organ, organ system, tissue,

organism

(b) 477~ P~ HY - BE ~ 2RE LG~ Ak molecule, cell, tissue, organ, organ system,
organism

(c) F -~ it - BE -~ BEEZRY - 4 - 4454 molecule, cell, organ, organ system, tissue,
organism

(d) 4Bt ~ 0 F ~ A4 - BBE - BRE LY - ZdapiAk cell, molecule, tissue, organ, organ system,
organism

(&) 31 ~ A~ LHEH ~ BRE LY - 2RE - Adn{Ak molecule, cell, tissue, organ system, organ,
organism

17. J¥{bSE Digestion is the
@) Fr5rAvIUL absorption of nutrient
(b) REHTREEEAT S EE A HE conversion of glycogen to glucose
(c) BV EFFIN A 43f# chemical and mechanical breakdown of food
(d) EWESFINZFHAIHLE) churning of food in the stomach and intestine
(e) MrEFEREHEAT & H i conversion of amino acids to proteins

18. FE A » RS 2 41{a AT Deep inhalation in humans is achieved by
(@) FHERAN LAY AE contraction of muscles in the lungs
(b) RIS S contraction of the diaphragm
(c) FHERF SRR BLIAIATRA relaxation of the diaphragm and chest muscles
(d) FEFFREAY A relaxation of the diaphragm
(e) FERF RO HLIAIIUL4E contraction of the diaphragm and chest muscles
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. oIk SERKAT X BIERIE NPIAVEF: » BT Arteries are distinguished from veins based on all of
the following features except

@) FENTCERIIILE R Eh /5 = the direction of blood flow relative to the heart

(b) [f/& EEf£EH) the structure of their walls

() FETMRFHRIE S 2= the amount of oxygen present in the blood

(d) [mJ% the blood pressure

(e) LL_E%5E all the above

C JRE Tz N 2.? What is a primary immune response?

(@) EFE—RBETTEYER A4/ [F A B4 the production of primary-type antibody
in the first day of exposure to a microorganism

(b) HHECRMERAEYHAR R A UR FTif & R & N the immune response elicited by the
primary antigen of a disease-causing microorganism

(©) HEURMERE VAR R L BUARTIA & HRAV SN the immune response elicited by
the primary antibody of a disease-causing microorganism

(d) RS AARNS R E DR AY & ZEERL A A& YR IE R the immune response elicited by
the first exposure of lymphocytes to a particular antigen

(&) CIZHPENS R E DR AV E ZEERL A & YR IE R the immune response elicited by
the first exposure of memory cells to a particular antigen

. FHA—TIAR BT 43 546HR 2 Which of the following is not an endocrine gland?
(2) FEME pancreas

(b) HIRHRE thyroid gland

(c) HEE R salivary glan

(d) F#EERE pituitary gland

(e) =M, testes

. KRB EE ) EREH2.? What is the first major phase of development?
(a) JEAAEHZE gastrulation

(b) FEHLHZK blastulization

(c) UNZY cleavage

(d) ZER implantation

(e) EfEX aggregation

- B AR — TN = EB RS B 44 S B AE A ? Which of the following is not an action of
parasympathetic nervous system?

(@) (K02 decrease heart rate

(b) PE{EIfnE decrease blood pressure

(c) PEREAVHIE stimulation of the pancreas

(d) MATIERE & %)fE release of glucose from the liver

(e) MERHRAYH]E stimulation of the salivary gland
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24. HLAMEATIREEZE The primary function of muscles is to
(@) WABLEY) 7 burn food molecules
(b) FHEFAEEL T EAMREE convert chemical energy to mechanical energy
(€) FFEELEREFE—EE hold the skeleton together
(d) P24 BRIy FAE R4 1475 generate body heat to maintain homeostasis
(e) LL_EE5E all of the above

25. FREFERVYMEA T g Point out the main agricultural productions in Malaysia for export are
(@) M - BRE B EE Palm oil rubber and tobacco
(b) &M - B S fEk Palm oil, rubber and rice
(©) T/ > B K AT Rubber, paper and coconut
(d) &M 0 B BT ET Palm oil rubber and Cocoa

(e) T/ o B B iR Palm oil rubber and rubber wood
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